F281-629 (R	tev. 5/92)	18-18034	•		
PROPOSAL FOR: TIME & DATE: ITEM NO.	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Annual Contract for Mechanical Maintenance and Repair Services Assistance (October 1, 2018 through September 30, 2019) 3:00 p.m., August 21, 2018 DESCRIPTION AND APPROXIMATE QUANTITY		R.E.C. Industries, Inc. 2103 Mannix Dr. San Antonio, TX 78217	The Brandt Companies, LLC 6023 Corridor Parkway, Suite 100 Schertz, TX 78154	LMC Corporation 10812 Hillpoint San Antonio, TX 78217
Section A A-1	Hourly rates submitted includel all Contractor's markups for burden, overhead & profit 300 hrs. Superintendent	PRICE TOTAL	82.78 24,834.00	105.00 31,500.00	
A-2	500 hrs. Foreman	PRICE TOTAL	78.82 39,410.00	85.00 42,500.00	
<u>A-3</u>	50 hrs. Safety Officer	PRICE TOTAL	82.78 4,139.00	85.00 4,250.00	
<u>A-4</u>	100 hrs. Crane Operator	PRICE TOTAL	78.82 788.20	98.00 980.00	
A-5	200 hrs. Equipment Operator	PRICE TOTAL	75.08 15,016.00	75.00 15,000.00	CTOR
<u>A-6</u>	200 hrs. Skilled Pipe Fitter	PRICE TOTAL	75.08 15,016.00	105.00 21,000.00	LATED (SIVE CONTRACTOR
A-7	100 hrs. Semi-Skilled Pipe Fitter	PRICE TOTAL	63.83 6,383.00	75.00 7,500.00	ID NOT TABULATED NON-RESPONSIVE LY GENERAL CONTR
A-8	400 hrs. Pipe Fitter Laborer	PRICE TOTAL	63.83 25,532.00	75.00 30,000.00	ID NOT NON-RI
A-9	200 hrs. Skilled Pipe Fitter	PRICE TOTAL	75.08 15,016.00	75.00 15,000.00	BID NC PRIMARLY
A-10	100 hrs. Semi-Skilled Pipe Layer	PRICE TOTAL	63.83 6,383.00	75.00 7,500.00	Д.
A-11	400 hrs. Pipe Layer Laborer	PRICE TOTAL	63.83 25,532.00	75.00 30,000.00	
A-12	200 hrs. Carpenter	PRICE TOTAL	75.08 15,016.00	85.00 17,000.00	
A-13	400 hrs. Carpenter Laborer	PRICE TOTAL	63.83 25,532.00	75.00 30,000.00	
<u>A-14</u>	100 hrs. Electrician, Low Voltage	PRICE TOTAL	78.82 7,882.00	85.00 8,500.00	

F281-629 (R	ev. 5/92)	18-18034			
PROPOSAL FOR: TIME & DATE: ITEM NO.	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Annual Contract for Mechanical Maintenance and Repair Services Assistance (October 1, 2018 through September 30, 2019) 3:00 p.m., August 21, 2018 DESCRIPTION AND APPROXIMATE QUANTITY		R.E.C. Industries, Inc. 2103 Mannix Dr. San Antonio, TX 78217	The Brandt Companies, LLC 6023 Corridor Parkway, Suite 100 Schertz, TX 78154	LMC Corporation 10812 Hillpoint San Antonio, TX 78217
A-15	100 hrs. Electrician, Apprentice, Low Voltage	PRICE TOTAL	63.83 6,383.00	65.00 6,500.00	
<u>A-16</u>	100 hrs. Electrician, Medium Voltage	PRICE TOTAL	75.08 7,508.00	130.00 13,000.00	
A-17	100 hrs. Electrician, Apprentice, Medium Voltage	PRICE TOTAL	63.83 6,383.00	130.00 13,000.00	
A-18	100 hrs. Certified Welder - all categories	PRICE TOTAL	82.78 8,278.00	105.00 10,500.00	
A-19	300 hrs. Concrete Form Worker/placer/finisher	PRICE TOTAL	75.08 22,524.00	75.00 22,500.00	
A-20	200 hrs. Process Equipment/Industrial Machine Installer	PRICE TOTAL	78.82 15,764.00	75.00 15,000.00	TOR
A-21	200 hrs. Mechanical Laborer	PRICE TOTAL	63.83 12,766.00	75.00 15,000.00	(TED VE ONTRAC
A-22	400 hrs. General Laborer	PRICE TOTAL	63.83 25,532.00	75.00 30,000.00	BID NOT TABULATED NON-RESPONSIVE PRIMARLY GENERAL CONTRACTOR
	SUB TOTAL GROUP A	TOTAL	331,617.20	386,230.00	BID NOT TO NON-RE
<u>B-1</u>	8 hrs/day (5 days) Core Drill, Electric, 2" to 8"	PRICE TOTAL	145.48	625.00	BI] RIMARL
B-2	8 hrs/day (5 days) Core Drill, Electric, 8" to 18"	PRICE TOTAL	179.63	775.00	IA I
B-3	8 hrs/day (5 days) Excavator, Diesel Hydraulic, Crawler Mounted, 1/2 C.Y.	PRICE TOTAL	746.35	1,702.00	
B-4	8 hrs/day (5 days) Excavator, Diesel Hydraulic, Crawler Mounted, 1 C.Y.	PRICE TOTAL	1,151.15	1,932.00	
B-5	8 hrs/day (5 days) Hydraulic Hammer, 750 ft lb	PRICE TOTAL	449.08	1,817.00	
B-6	8 hrs/day (5 days) Hydraulic Hammer, 1200 ft lb	PRICE TOTAL	891.83	2,047.00	
B-7	8 hrs/day (5 days) Boom Truck, 22 Ton	PRICE TOTAL	1,568.60	1,283.40	

F281-629 (F	ev. 5/92)	18-18034 •		i	ı
PROPOSAL FOR: TIME & DATE: ITEM NO.	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Annual Contract for Mechanical Maintenance and Repair Services Assistance (October 1, 2018 through September 30, 2019) 3:00 p.m., August 21, 2018 DESCRIPTION AND APPROXIMATE QUANTITY		R.E.C. Industries, Inc. 2103 Mannix Dr. San Antonio, TX 78217	The Brandt Companies, LLC 6023 Corridor Parkway, Suite 100 Schertz, TX 78154	LMC Corporation 10812 Hillpoint San Antonio, TX 78217
B-8	8 hrs/day (5 days) Crane, 40 Ton	PRICE TOTAL	1,771.00	1,407.60	
B-9	8 hrs/day (5 days) Small Rock Saw	PRICE TOTAL	904.48	1,020.00	
B-10	8 hrs/day (5 days) Front End Loader, 4WD, 1 to 1-1/4 C.Y.	PRICE TOTAL	1,739.38	828.00	
B-11	8 hrs/day (5 days) Front End Loader, 4WD, 1 to 2 C.Y.	PRICE TOTAL	2,024.00	1,518.00	~
B-12	8 hrs/day (5 days) Backhoe Loader, 4WD, 3/4 C.Y.	PRICE TOTAL	499.68	1,288.00	LATED ISIVE CONTRACTOR
B-13	8 hrs/day (5 days) Backhoe Loader, 4WD, 1-1/2 C.Y.	PRICE TOTAL	815.93	1,288.00	ULATEI NSIVE LONTI
B-14	8 hrs/day (5 days) Sky Trak Ext Forklift	PRICE TOTAL	777.98	681.25	BID NOT TABULATED NON-RESPONSIVE RIMARLY GENERAL CONTR
B-15	8 hrs/day (5 days) Trench Compactor	PRICE TOTAL	320.05	807.88	BID NG NON ARLY GI
B-16	8 hrs/day (5 days) Compressor, 185 cfm	PRICE TOTAL	246.68	230.00	PRIM/
B-17	8 hrs/day (5 days) Wacker/Small Compressor/Plug/Generator	PRICE TOTAL	82.23	81.65	
B-18	8 hrs/day (5 days) Trencher, chain boom type, operator riding, 40 HP	PRICE TOTAL	474.38	1,288.00	
<u>B-19</u>	8 hrs/day (5 days) Trencher, chain boom type, operator riding, 100 HP	PRICE TOTAL	752.68	1,288.00	
B-20	8 hrs/day (5 days) Truck, Dump, 8 C.Y.	PRICE TOTAL	445.28	575.00	

	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS		, Inc. 78217	panies, LLC rkway, Suite	n 78217
PROPOSAL FOR: TIME & DATE:	Annual Contract for Mechanical Maintenance and Repair Services Assistance (October 1, 2018 through September 30, 2019) 3:00 p.m., August 21, 2018		R.E.C. Industries, Inc. 2103 Mannix Dr. San Antonio, TX 78217	The Brandt Companies, LLC 6023 Corridor Parkway, Suite 100 Schertz, TX 78154	LMC Corporation 10812 Hillpoint San Antonio, TX
ITEM NO.	DESCRIPTION AND APPROXIMATE QUANTITY	_	R.J 21(Sa	Th 600, 100 ScJ	LN 100 Sau
B-21	8 hrs/day (5 days) Truck, Dump, 12 C.Y.	PRICE TOTAL	645.15	575.00	
B-22	8 hrs/day (5 days) Pickup Truck	PRICE TOTAL	113.85	611.50	
B-23	8 hrs/day (5 days) Crew Truck	PRICE TOTAL	158.13	628.75	
B-24	8 hrs/day (5 days) Water Truck	PRICE TOTAL	1,068.93	1,002.40	TOR
	SUB TOTAL GROUP B	TOTAL	17,971.93	25,300.43	TED VE NTRAC
	Section C. % markup for any Section C item include all Contractor's burden overhead & profit (Example in Section Q)				ABULA PONSIY RAL CO
C-1	Per Year Parts and Materials	PRICE TOTAL	20% 50,000.00 10,000.00 60,000.00	15% 50,000.00 7,500.00 57,500.00	BID NOT TABULATED NON-RESPONSIVE PRIMARLY GENERAL CONTRACTOR
C-2	Per Year Specialty Rental Equipment	PRICE TOTAL	20% 20,000.00 4,000.00 24,000.00	15% 20,000.00 3,000.00 23,000.00	E PRIMAR
<u>C-2</u>	Per Year	PRICE	18% 125,000.00 22,500.00	15% 125,000.00 18,750.00	
<u>C-3</u>	Sub-Contractors	TOTAL	147,500.00	143,750.00	
	SUB TOTAL GROUP C	TOTAL	231,500.00	224,250.00	
	FIRST YEAR BASE PERIOD TOTAL CONTRACT AMOUN (GROUPS A,B,C)	TOTAL	581,089.13	635,780.43	
	EXTENSION 1		581,089.13		
	EXTENSION 2		581,089.13		
	EXTENSION 3		581,089.13		

	SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS		, Inc.	Companies, LLC lor Parkway, Suite 78154	n . 78217
PROPOSAL FOR: TIME & DATE: ITEM NO.	Annual Contract for Mechanical Maintenance and Repair Services Assistance (October 1, 2018 through September 30, 2019) 3:00 p.m., August 21, 2018 DESCRIPTION AND APPROXIMATE QUANTITY		R.E.C. Industries 2103 Mannix Dr. San Antonio, TX	The Brandt Companies, 6023 Corridor Parkway 100 Schertz, TX 78154	LMC Corporation 10812 Hillpoint San Antonio, TX
	Terms		Net 30 days	Net 30 days	
	Delivery Days				

*LOW BIDDER

BID INVITATIONS E-MAILED TO AND/OR PICKED UP BY:

All Pro General Construction

Azteca Designs

IN New Braunfels

LMC Corporation

MGC Contractors

REC Industries

Spaw Glass

The Brandt Co.

Valleon Services

Walsh Group

Demandstar SAWS Website